Hand-In Assignment 5

. Decide whether the series converges or diverges in R.

2 Z:‘ n3n+1 [2 pts]
b) Z(H"T) [2 pts|
9) 2% [2 pts]
d) 21.3.5.5,;;1(!211—1) [2 pts]

e) iln( n j [2 pts]

‘o \3n+1

. Find the exact sum of the series Z(Sin[z -7 j— Sin[z - ZD

o 2 n+l 2 n
[10 pts]
l"'l(l—lj if n=2k-1
. Let {an}il be a sequence defined by a, = 2 2 k )
n 1 1 .
2——[1——j if n=2k
2 k

where k >1. Calculate limsup{a, } and liminf{a,}. [10 pts]

. Compute lim sup{an} and liminf {an} for the sequence

a, =Sin[§nj”+2. [10 pts]
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